
CG PRE B.Ed 2025 Question Paper

1. What will be the correct order of adopting teaching methods in Pedagogy?

(a) Planning the curriculum

(b) Selection of teaching method

(c) Teaching in the class

(d) Taking feedback from students

(e) Assessment & Evaluation Choose the correct answer from the options given below:

(A) a → b → c → d → e

(B) a → b → c → e → d

(C) e → b → c → d → a

(D) a → c → b → d → e

2. Which of the following are the most influential factors of learning?

(a) Government Policy

(b) Motivation

(c) Aptitude

(d) Interest

(e) Physical facilities Choose the correct answer from the options given below:

(A) a, b, and c only

(B) b, c, and d only

(C) c, d, and e only

(D) a, b, and e only

3. Which strategies should a teacher adopt in an inclusive classroom?

(a) Using the same curriculum material for all students

(b) Customizing teaching according to the learning needs of students

(c) Teaching specific students by seating them separately
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(d) Using different assessment methods to motivate students

Choose the correct answer from the options given below:

(A) c and d only

(B) b and c only

(C) a and c only

(D) b and d only

4. Match the following:
Column - I Column - II

(a) Lecture Method (I) Learning by doing

(b) Demonstration Method (II) Teacher-centered, focuses on delivery

(c) Project Method (III) Students explore real-life problems

(d) Heuristic Method (IV) Learning through discovery

Choose the correct answer from the options given below:

(A) a-II, b-III, c-IV, d-I

(B) a-II, b-III, c-I, d-IV

(C) a-II, b-I, c-IV, d-III

(D) a-II, b-I, c-III, d-IV

5. According to pedagogy, what will be the correct order of the following steps in the

learning process?

(A) Gaining experience

(B) Going through cognitive process

(C) Change in behavior

(D) Giving feedback

(E) Attention

Choose the correct answer from the options given below:

(A) a → c → b → d → e

(B) a → e → b → c → d

(C) a → c → d → b → e
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(D) c → a → b → d → e

6. What can be an example of ”Extrinsic Motivation”?

(A) Studying out of curiosity

(B) Being rewarded by the teacher

(C) Taking interest in learning new things

(D) Studying with self-motivation

7. Which of the following statements best describe the brainstorming method of

teaching?

(A) Production of a large number of ideas

(B) Small step presentation with feedback provided

(C) Content delivery in a lucid language

(D) Theme-based instruction among participants

8. For the below Assertion [As] and Reason [R], choose the correct alternative:

Assertion [As]: Learning is a life-long process.

Reason [R]: Learning to be useful must be linked with the process.

(A) Both [As] and [R] are true, and [R] is the correct explanation of [As].

(B) Both [As] and [R] are true, but [R] is not the correct explanation of [As].

(C) [As] is true, but [R] is false.

(D) [As] is false, but [R] is true.

9. According to you, how should class communication be?

(A) Difficult

(B) General

(C) Interesting

(D) Comprehensive
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10. According to the constructivist approach, which of the following is crucial for

constructing knowledge?

(A) Conditioning

(B) Insight

(C) Prior knowledge of the learner

(D) Rote memorization

11. Sanjay is good in studies but weak in reading and understanding letters and words.

He has good mathematical understanding. Sanjay may suffer from which of the

following disorders?

(A) Dyscalculia

(B) Dysgraphia

(C) Dyslexia

(D) Dysphasia

12. Why is ”Emotional Intelligence” important for teachers?

(A) To establish good communication with students

(B) To understand and manage one’s own emotions

(C) To maintain a positive atmosphere in the classroom

(D) All of the above

13. What are the objectives of the National Education Policy?

(A) Revamping the entire education system.

(B) Relating education to employment.

(C) Providing equal opportunities through education.

(D) Separating education from degrees.

14. Which are the major socialization agencies?

(I) Community

(II) Some social groups
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(III) Formal educational institutions

(IV) Family

(A) Only I

(B) Only I, II & III

(C) All I, II, III & IV

(D) Only I & II

15. For the below Assertion [As] and Reason [R], choose the correct alternative:

Assertion [As]: Formative evaluation tends to accelerate the pace of learning.

Reason [R]: As against summative evaluation, formative evaluation is highly reliable.

(A) Both [As] and [R] are true, and [R] is the correct explanation of [As].

(B) Both [As] and [R] are true, but [R] is not the correct explanation of [As].

(C) [As] is true, but [R] is false.

(D) [As] is false, but [R] is true.

16. Arrange in sequential order, the structure of understanding level of teaching:

(a) Organisation

(b) Exploration

(c) Presentation

(d) Assimilation

(e) Recitation

(A) c, d, b, a, e

(B) b, c, d, a, e

(C) a, b, c, d, e

(D) d, a, b, c, e

17. Match the following:

(a) Ramayana (I) Jaydev

(b) Mahabharat (II) Ravindranath Tagore

(c) Ashtapadi (III) Vyas
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(d) Geetanjali (IV) Valmiki

(A) a-IV, b-III, c-I, d-II

(B) a-IV, b-II, c-III, d-I

(C) a-III, b-II, c-I, d-IV

(D) a-I, b-II, c-III, d-IV

18. Which of the following is not an e-learning platform?

(A) Coursera

(B) Udemy

(C) Netflix

(D) Khan Academy

19. The sequence of elements in a classroom speech is:

(a) Introduction

(b) Description

(c) Feedback

(d) Clarification

(e) Conclusion

Choose the correct answer from the options given below:

(A) a, b, c, d, e

(B) b, a, c, e, d

(C) c, d, a, b, e

(D) a, b, e, c, d

20. By promoting and spreading education:

(A) Democracy is strengthened.

(B) There is a decrease in superstition.

(C) The rate of economic growth increases.

(D) All of the above
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21. By promoting and spreading education:

(A) Democracy is strengthened.

(B) There is a decrease in superstition.

(C) The rate of economic growth increases.

(D) All of the above

22. Why is flexibility in teaching necessary?

(a) So that teaching can be done according to the learning pace of each student.

(b) So that the teacher can continue his old strategies without changing them.

(c) So that the teaching method can be changed according to the needs of the students.

(d) So that every student gets the same experience, whatever his learning style is.

Choose the correct answer from the options given below:

(A) b and c only

(B) c and d only

(C) a and c only

(D) a and d only

23. Assertion [As]: A person interested in teaching should master the teaching skills

and methods.

Reason [R]: Teaching is not just a profession but both an art and science which requires

knowledge, patience, and proper teaching techniques.

(A) Both [As] and [R] are correct, and [R] is the correct explanation of [As].

(B) Both [As] and [R] are correct, but [R] is not the correct explanation of [As].

(C) [As] is correct, but [R] is wrong.

(D) [As] is wrong, but [R] is correct.

24. What else should a teacher teach his students besides knowledge?

(A) Relentless efforts to achieve the goal

(B) Do not lose control and balance even in adverse circumstances

(C) Good use of time
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(D) All of these

25. What factors should a teacher pay attention to in order to understand the diverse

needs of students in teaching?

(A) a, d, and c only

(B) a, b, and d only

(C) b, c, and d only

(D) a, c, and d only

26. What is required to measure the effectiveness of a teacher in the classroom?

(A) Student’s feedback

(B) Self-assessment during teaching

(C) Improving teaching methods

(D) All of the above

27. Which one of the following is an example of qualitative assessment?

(A) Multiple choice question paper

(B) Written examination

(C) Project work and presentation

(D) Giving numerical grades

28. Which of the following teaching methods is considered “child-centered”?

(A) Lecture Method

(B) Question-Answer Method

(C) Teaching-Learning Method

(D) Textbook Method

29. Arrange the skills required to be a successful teacher in the correct order:

(a) Command over the subject
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(b) Effective communication skills

(c) Knowledge of teaching methods

(d) Students’ ability to understand

(e) Continuous Self-Evaluation and Improvement

Choose the correct answer from the options given below:

(A) a → c → b → d → e

(B) c → a → d → b → e

(C) c → e → d → b → a

(D) e → a → d → b → c

30. Match the following:

(a) Facilitator

(b) Evaluator

(c) Counsellor

(d) Leader

(I) Providing motivation and direction

(II) Designing and using assessment tools

(III) Helping learners construct knowledge

(IV) Offering guidance on personal issues

Choose the correct answer from the options given below:

(A) a-III, b-IV, c-I, d-II

(B) a-I, b-III, c-II, d-IV

(C) a-IV, b-I, c-III, d-II

(D) a-II, b-IV, c-I, d-III

31. Choose the number pair which is different from the other:

A. 181− 48

B. 170− 55

C. 131− 42

D. 80− 25
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32. Study the following figure carefully and answer the given question:

Indian who are teacher but not musicians.

A. b

B. c

C. d

D. g

33. Find the missing term:

A,Z,G, T,M,N, S, , Y, B

A. F

B. G

C. H

D. I

34. Heavier coins are more valuable.

Ram’s coin is heavier than Mohan’s coin and more valuable than Ramesh’s coin.

Naresh’s coin is more valuable than Ram’s coin and costlier than Yogesh’s coin.

The order of value is:

A. Yogesh < Naresh > Ram > Ramesh/Mohan

B. Yogesh > Ram > Naresh > Ramesh > Mohan

C. Mohan / Ramesh < Naresh > Yogesh / Ram

D. Mohan > Ramesh > Ram > Naresh > Yogesh

35. Find the missing term:
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A. 100

B. 92

C. 57

D. 54

36. Match the following:

Choose the correct answer from the options given below: A. a-IV, b-I, c-II, d-III

B. a-III, b-II, c-IV, d-I

C. a-II, b-III, c-IV, d-I

D. a-III, b-I, c-II, d-IV

37. Arrange the following sentences in proper sequence:

(a) on phone

(b) though he dialled frequently

(c) and had left no information

(d) my brother could not contact me

(e) as I had gone out of office

Select the correct answer from the options given below:

A. b > d > a > e > c

B. d > b > a > e > c

C. e > b > d > a > c

D. d > a > b > c > e
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38. He drink beer, now he drinks wine.

Fill in the blank with a suitable modal from the given options: A. could

B. had to

C. used to

D. ought to

39. Arrange the following set of operations while using a thermometer in proper

sequence:

(a) Place the bulb of the thermometer inside the patient’s mouth, below the tongue for about

3 minutes.

(b) Remove the thermometer from its tube and look at the column of mercury to make sure it

stands a few degrees below normal; shake down the column of mercury.

(c) Ask the patient to keep his mouth closed when the thermometer is in his mouth.

(d) Put the thermometer back in its tube.

(e) Remove the thermometer from his mouth and read the temperature.

Select the correct answer from the options given below:

A. a > c > d > b > e

B. a > b > d > c > e

C. b > a > c > e > d

D. b > c > a > e > d

40. He was greedy money.

Fill in the blank with a suitable preposition from the following choices:

A. of

B. for

C. about

D. At

41. Identify the sentences that correctly transform the following sentence into indirect

speech:
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Original sentence:

‘What did you eat for breakfast today?’ The doctor asked the patient.

Options:

(a) The doctor asked the patient what he ate for breakfast that day.

(b) The doctor asked the patient what he had eaten for breakfast that day.

(c) The doctor asked the patient what he ate for breakfast today.

(d) The doctor asked to patient what did he eat for breakfast that day.

Select the correct answer from the options given below:

A. a, b, c

B. b and c only

C. b and d only

D. a and b only

42. Identify which of the following is a countable noun?

A. cloth

B. rice

C. cup

D. cold

43. Identify the correctly spelt words from the following:

(a) separate

(b) seperate

(c) receive

(d) inspite of

Select the correct answer from the following options: A. a and c only

B. a and b only

C. a, c, d only

D. b and d only

General Knowledge
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44. Choose the correct option for the given Statement [As] and Reason [R].

Statement [As]: The British established their first factory in Masulipatnam in the South in

1611.

Reason [R]: The conditions in South India were more favorable for the British; they did not

have to face any powerful Indian government there.

A. Both [As] and [R] are true, and [R] is the correct explanation of [As].

B. Both [As] and [R] are true, but [R] is not the correct explanation of [As].

C. [As] is true, but [R] is false.

D. [As] is false, but [R] is true.

45. Choose the correct option for the given Assertion [As] and Reason [R].

Assertion [As]: National Education Policy 2020 recommends Yoga education as a means to

promote holistic development and well-being.

Reason [R]: Yoga education focuses only on physical postures (asanas) and breathing

techniques.

A. Both [As] and [R] are true, and [R] is the correct explanation of [As].

B. Both [As] and [R] are true, but [R] is not the correct explanation of [As].

C. [As] is true, but [R] is false.

D. [As] is false, but [R] is true.

46. Arrange the following authors in their correct chronological order.

(a) Banabhatta

(b) Kalhana

(c) Kalidasa

(d) Patanjali

(e) Chanakya

A. e → c → d → a → b

B. e → d → c → a → b

C. d → e → c → b → a

D. d → e → b → c → a
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47. Who is the author of ”Who were the Shudras”?

1. Mahatma Gandhi

2. Vinayak Damoder Savarkar

3. Dr. Babasaheb Ambedkar

4. Pt. Sundarlal Sharma

48. Match the following:

Choose the correct answer from the options given below:

A. a-III, b-IV, c-I, d-II

B. a-IV, b-III, c-II, d-I

C. a-IV, b-III, c-I, d-II

D. a-II, b-III, c-IV, d-I

49. Descending order of Indian States according to coal reserves is-

(a) Jharkhand (b) Odisha (c) Chhattisgarh (d) Madhya Pradesh (e) West Bengal

A. c > a > b > d > e

B. a > b > c > e > d

C. b > d > a > e > c

D. c > b > a > e > d

50. Arrange the following events in their correct order, which are related to the

development of the banking system in India -

(a) Establishment of Oudh Commercial Bank

(b) Establishment of State Bank of India

(c) Nationalization of Reserve Bank of India
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(d) Nationalization of banks

(e) Establishment of Reserve Bank of India

A. e > a > c > b > d

B. b > e > c > a > d

C. a > e > c > b > d

D. d > b > e > c > a

51. Which statement is correct regarding the Joint Sitting of Parliament?

(I) The President summons the joint sitting of both Houses.

(II) The Speaker of Lok Sabha presides over the joint sitting.

(III) In the absence of the Speaker of Lok Sabha, the Deputy Speaker of Lok Sabha shall

preside over the joint sitting.

(IV) In the absence of the Speaker and Deputy Speaker of Lok Sabha, the Deputy Chairman

of Rajya Sabha shall preside over the sitting.

A. Only I

B. Only I and II

C. I, II and III

D. All of the above

52. Which of the following soils of India is called ’Brick Soil’?

A. Alluvium Soil

B. Laterite Soil

C. Black Soil

D. Red Soil

53. Make the correct pair-
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Choose the correct answer from the options given below-

A. I-a, II-b, III-c, IV-d

B. I-d, II-a, III-b, IV-c

C. I-b, II-c, III-d, IV-a

D. I-c, II-d, III-a, IV-b
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